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CBT Practice test model answers

External Auditing (EXA)

Practice assessment 4

Section 1

Task 1.1
[image: image2.png]Complete the following sentences and phrases from ISA 240 The auditor's responsibilities relating to
fraud, by dragging the appropriate word to each gap.

(a) “The primary responsibilityfor the prevention and etection of fraud rests with

(b) *An auditor is responsible for obtaining [reasonable

are free from material misstatement, whether caused by fraud or error.”

(@ -

management

assurance thatthe financial statements

(¢) “The risk of not detecting a material misstatement resulting from frau is [nigher than the
risk of not detecting one resulting from error.*
the auditor is responsible for maintaining professional [scepticism throughoutthe audit
moderate [absolute. udgement
[tne auditor flower





Task 1.2

[image: image3.png]Which TWO of the following are ways in which an external auditor may limit his liability to a client
company?

Adisclaimer ofliabiliy, included in the audit report

Aliabilty cap, agreed with the shareholders of a client company

Aliability cap, agreed with the directors of a client company who are not shareholders in that company

A proportional liabiliy agreement





Task 1.3

[image: image4.png]Identify whether the following statement in respect of the role of the International Auditing and
Assurance Standards Board (IAASB) is true or false by selecting the appropriate option.

‘The 13458 s responsible for seting auditing standards which are compulsory throughout the world.





Task 1.4

[image: image5.png]Match each risk to its definition by dragging the appropriate risk to the definition.

The riskthat the auditor's procedures wil notfind a misstatement Detection risk
that exists and that could be material

The riskthat the auditor expresses an inappropriate audit opinion when | Auditrisk
the financial statements are materially misstated.

The riskhat a material misstatement could occur and will not be. Control risk.
prevented or detected by the entit's intemal controls.

Inherent risk





Task 1.5
[image: image6.png]Identify whether each of the following statements in respect of materiality is true or false by selecting the
‘appropriate option.

[Performance materiality should be set at a level above the level of materiality for
line financial statements as a whole.

[ necessary, the auditor should revise the level of materiaity for the financial
|statements as awhole as the audit progresses.





Task 1.6
[image: image7.png](a) Identify whether the following statement in respect of an auditor's refiance on internal controls is true.
orfalse by selecting the appropriate option.

‘The exteral auditor may rely completely on an entity's intemal control system, provided that he has tested
the controls within it

(b) Identify whether the external auditor is likely to place reliance or place no reliance on internal controls
in the circumstance described below by selecting the appropriate option.

A company with 3 small number of high-value, easily verifiable transactions.





Task 1.7
[image: image8.png]For each of the following features of an accounting system, identify whether it is a control objective, risk,
or control procedure by dragging the appropriate term to the feature.

tu Term
Orders are not accepted from credit customers unti their Control objective
credit-worthiness has been checked.

Credit customers may be unable {0 pay. Risk
Before an order is accepted e clerk checks hat the value of that Control procedure
order will not cause the customerto exceed s credit limit.





Task 1.8
[image: image9.png]For each of the following circumstances identify whether it represents collusion, management override
‘or human error by selecting the appropriate option.

(3) The sales ledger clerk, working late, posted an invoice to the wrong customer account.

I

(b) Two sales colleagues agreed that one ofthem should claim on his expenses for a meal they and their
families had shared.

I

(€) The finance director gave double the permitted sales discount on an invoice for a company owned by his
brother.

[Management overrice |53




Task 1.9
[image: image10.png]Identify whether each of the following statements, in respect of the techniques used by an auditor, is true
orfalse by selecting the appropriate option.

[When testing a balance for understatement or completeness, the auditor
lshould select a sample of entries i the accounting records and vouch
lback to source documents.

[Direct confirmation of receivables balances provides stranger evidence
lof overstatement than understatement because there is aiways the fisk
[tnat customers will agree balances which are understated. v

[Physical inspection of a non-current asset provides evidence of existence
lofthe non-current asset but not evidence of ights and obligations in
lrespect ofthat asset.





Task 1.10

[image: image11.png]Identify the method of selection which is described below by dragging the method to the appropriate
description.

[Selecting items on a probabiliy basis whereby each item in the. Random

lpopulation has an equal chance of selection

[Selecting items without following a structured technique, avoiding any | Haphazard
lconscious bias or predictabiliy.

[Selecting every nth tem in the population Systematic

Block





Task 1.11
[image: image12.png]For each description of a procedure listed below, identify whether it is an analytical procedure, a test of
‘control or a test of detail by selecting the appropriate option.

(3) The use of enquiry, inspection and reperformance to obtain evidence that transactions and balances in
the accounting records are not materially misstated.

[Test of detail v

(6) The observation of procedures within an organisation to ensure that they comply with the procedures as
laid down by management

[Test of control v

() The investigation of identified fluctuations and relationships that are inconsistent with other relevant
information or deviate significantl from predicted amounts.

[Analytical procedure |53





Task 1.12

[image: image13.png]Identify whether each of the following statements in respect of computer-assisted audit techniques
(CAATS) s true or faise by selecting the appropriate option.

Test data works on the basis of interrogating the client's system and extracting
land analysing information

[The input of customer orders which would cause those customers to exceed their
lcredit limits to check that the system rejects those orders is an example of how.
lauditors use test data.

[Test data is generally used o test controls, whereas audit software is generally
lused to assistwith substantive testing procedures.





Task 1.13
[image: image14.png]Identify whether each of the following factors is likely to increase or decrease the risk of misstatement in
the financial statements due to fraud or error by selecting the appropriate option.

[Management has made it clear to employees thatit prefers honest
Ireports to favourable reports.

[Management has historically failed to remedy known significant
|deficiencies in intemal control on a imely basis.





Task 1.14
[image: image15.png]Identify whether each of the following descriptions represents a flowchart, an internal control
‘auestionnaire or an internal control checklist by dragging the appropriate method of documentation to the.
description.

[Alisting of controls necessary to provide reasonable assurance of Internal control checkiist

lefective intemal control within 3 given transaction cycle.

[A pictorial representation of the processing steps within a given Flowchart
fransaction cycle depicting actions, documents and people
[performing the control procedures.

Narrative notes

Internal control questionnaire





Task 1.15
[image: image16.png]\Which THREE of the following represent the purposes of audit working papers?

Retain a record of matters of continuing significance for future auits

Enable the conduct of extemal inspections in accordance with applicable legal, regulatory or other
requirements

[P

‘Comply with the provisions of the UK Companies Act 2006 on working papers.

Assistthe engagement team to plan and perform the audit





Section 2

Task 2.1
[image: image17.png]\Which THREE of the following accounting systems are likely to be subject to external audit?

soms
s

Trade receivables

Trade payables

Inventory





Task 2.2
[image: image18.png]Identify, for each of the following factors, whether it is likely to lead to the auditor assessing that there is
anincrease or a decrease in control risk, by selecting the appropriate option.

[The company has an independent audit committee in place.
[There is a high tumover of staffn the accounts department.
[Senior management circumvents controls.





Task 2.3
[image: image19.png]Match each internal control procedure used to mitigate the risk by dragging the appropriate internal

‘control procedure to the risk.

[Expenses are paid which were not incurred for the.
lbenefit of the business.

/All expense claims are signed by a department manager.

[Expenses are paid which were notincurred.

Expenses are only paid on production of a receipt

[Expense limits are approved in advance.





Task 2.4
[image: image20.png]Identify whether each procedure is a strength or a weakness by selecting the appropriate option.

rehouse staff, who are responsible for the custody and recording of

inventory, perform monthiy counts of the inventory and check the physical

lquanites to the inventory records,

[On arrival at the warehouse, raw materials are checked to a copy ofthe
lpurchase order for quantity and specification and for any damage prior to

[acceptance of the raw materials.





Task 2.5

[image: image21.png]Identity whether each result indicates that gross profit and net profit might have been under or overstated
by selecting the appropriate option.

(a) The company's rate of gross profitis unchanged from the previous year. Atthe start of the year
Andromeda Ltd increased it selling prices by 10%. There have been no price increases from suppliers

() The company's rate of net profitis unchanged from the previous year. At the start ofthe year Andromeda.
Ltd relocated to new larger reehold office premises. lis previous office premises had been fully
depreciated some years ago and had very low running costs.





Task 2.6
[image: image22.png]Identify, for each of the objectives set out below, the population from which the sample should be chosen
by selecting the appropriate option.

(3) Obtain evidence thatthe audited entiy is only paying for hours actually worked by employees.

(b) Obtain evidence of the existence of inventory belonging to an audited entity which
maintains continuous inventory records.

[Inventory recorss |3




Task 2.7
[image: image23.png]Complete each of the following sentences by selecting the appropriate option.

(3) ‘The output VAT figure should be checked to the.

[sales day book” v

(b) ‘The input VAT figure should be checked to the.

purchases day book” v




Task 2.8
(i)
Risks

-
The cost of additions may be misstated or may relate to items that should have been expensed (eg training costs wrongly capitalised).
-
Additions may be incomplete.
-
Additions could be wrongly classified (eg as plant and equipment instead of motor vehicles).
-
Not all disposals (including any plant scrapped) may have been recorded.
-
The amount taken out of cost for disposals may not be the original cost, especially if items have been fully depreciated.
-
The opening cost figure may not have been correctly brought forward from the previous year.
-
Assets may not exist.
-
The movement on cost may not be correctly disclosed in the financial statements.
-
Assets may not be owned by Gremlin Ltd.
-
The cut-off of additions and disposals could be incorrect.
(ii)
Procedures

-
Agree the opening cost figure to last year’s final financial statements.
-
Obtain a schedule of additions and disposals.
-
Select a sample of additions and vouch the cost to purchase invoices/finance lease agreements to ensure correctly capitalised and title obtained.
-
Review purchase invoices/ repairs and maintenance account/minutes for items that should have been capitalised.
-
Compare additions/disposals to budgeted additions/disposals.
-
Review minutes of meetings/scrappings notes/invoices for sale of plant and ensure all items actually disposed of during the year are reflected on the schedule of disposals.
-
Select a sample of disposals and confirm original cost to the non-current asset register/Periodic review of cost account to equipment with differences reported and investigated.
-
Review invoices relating to non-current assets around the year end to ensure that additions and disposals are recorded in the correct period. 
-
Select a sample of assets from the asset register and physically verify.
-
Ensure the note to property plant and equipment properly discloses the above movement on cost.
Task 2.9
[image: image24.png]Identify whether cut off procedures have been correctly applied by Argyll Ltd for the year ended
‘31 March 20X6 by selecting the appropriate option.

[Cutoff procedures not correctly applied [ug




Task 2.10

· Select a sample of individual net pay amounts from both the weekly and monthly payrolls and:
· agree hours worked to printout of hours worked (weekly payroll)
· agree pay rates to personnel files (weekly payroll)
· agree salary to personnel files (monthly payroll)
· agree deductions to personnel files (including tax coding notices)
· reperform calculations

· seek out employee to verify existence

· Verify payments to employees and to tax authorities to bank statements

· Trace a sample of postings from the payroll to the nominal ledger

· Check nominal ledger figures to the financial statements

· Carry out analytical procedures utilising relationships between numbers of staff and average pay rates and average percentages of deductions for tax etc

· Compare with previous year and budget and obtain plausible explanation for movements out of line with expectations

· Ensure the payroll has been signed as approved by someone in authority

· Check swipe card system to ensure recording hours correctly (test of control)

· Identify starters and leavers by comparing the payroll at two different points in time and ensure names added to/deleted from payroll at appropriate dates
· Review bank transfer details for completeness and duplicate names

Task 2.11
[image: image25.png]Which of the following courses of action should the audit junior take?

Refer to supenisor

Take no further action

Discuss with sales director.





Task 2.12

[image: image26.png]Which ONE of the following courses of action should the audit junior take?

Refer to supenisor

Take no further action

Discuss with warehouse supenvisor.

Discuss with warshouse supenvisor's assistant





Task 2.13

(i) Consequences

-
Bank reconciliations may not be performed.
· 
Errors in writing up the cash book may not be discovered/Cash may be misstated.
· 
Bank errors may not be discovered.

[As alternative to above two points] – No one has looked at reconciling items.
- 
Entries made by the bank may not be accounted for on a timely basis/bounced cheques may not be spotted, which could impact on cash management/May fail to identify that overdraft limit has been exceeded.
-
Delays in despatching cheques to suppliers may not be discovered and such delays could damage the company’s relationship with its suppliers.
-
Fraud/teeming and lading could go undetected.
(ii)
Recommendations

-
Unpresented cheques in the reconciliation should be traced to the first few days of the next bank statement.
-
Uncleared lodgements in the reconciliation should be traced to the first few days of the next bank statement.

[As alternative to above two points] – Uncleared items are cleared/investigated and the items annotated with when presented/cleared at the bank.
-
The reconciliation should be reviewed by the financial controller and signed as evidence of his review.
-
Entries on the bank statements but not in the cash book should be accounted for promptly.
-
Errors discovered should be corrected promptly and the reason for making those errors investigated.
-
Monitoring of procedures to ensure compliance.

Task 2.14
[image: image27.png]Identify, for each of the following situations which have arisen at two unrelated audit clients, what type of
‘modified audit opinion is appropriate for each company for the year ended 31 December 20X5 by
‘selecting the appropriate option.

“The audit work undertaken at Clyde Lid identfied that there was no system of control over cash sales that
‘could be relied on for the purpose of the audit andthere were no satisfactory audit procedures that could
be adoptedto confirm that such sales were properly recorded. Cash sales comprise 10% of recorded
revenue.

[Qualified opinion v

‘The audit work undertaken at Dee Ltd identified misstatements in the financial statements in respect of
non-current asses, inventory, rade receivables and trade payables. The directors of Dee Lid refuse o
‘amend the financial statements. In the extemal auditor's opinion, these misstatements are material and
penvasive to the financial statements.

T




Task 2.15
[image: image28.png]\Which ONE of the following is the most appropriate action for Navan to take?

Take no action unil he has obtained documentary evidence to support his suspicion

Report his suspicion to the police.

Report his suspicion to his fir's money laundering reporting officer.
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